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| PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or {4) that best completes the blank.

| Then mark the correct choice on your answer sheet.

I-  That —========- car has none of the features, like power windows and steering, that make
modern cars so great.
1) antiquated 2) superficial 3) aesthetic 4) hazardous

2-  With several agencies regulating the reports, it was difficult for the accused to argue
against its -——————--- i
1) infamy 2) relevance 3) veracity 4) anticipation

3-  Sinece Jack did not want a speeding ticket, he tried to ------ -——- the police officer by giving
her a compliment.
1) convict 2) appease 3) reinforce 4) escape

4-  Trudy studied harder, but there was only ----—------ improvement in her grades, so she
agreed to get a tutor.
1) marginal 2) commonplace  3) monotonous 4} unbearable

5-  Living apes—chimpanzees, gorillas, orangutans, gibbons and siamangs—and humans
share a constellation of ----=----- that set them apart from other primates.
1) demands 2) certainties 3) disciplines 4) traits

6- Hawve you ever noticed how a coin at the bottom of 2 swimming pool seems to wobble?
This occurs because the water in the pool bends the path of light --———--- from the coin.
1) generated 2) recognized 3) reflected 4} differentiated

7-  Publicly available Web services (e.g. Google, InfoSeek, Northernlight and AltaVista)
------- various techniques to speed up and refine their searches.

1) specity 2) capture 3) determine 4) employ

8  Owing to the protests of the Dominicans and other regulars, the book was prohibited in
1760, but the second part was issued -———--—----- in 1768.
1) meticulously 2) superstitiously  3) profoundly 4) recklessly

9-  While admissions offices do admit many students with similar profiles, a college is still a
smeemee-- and diverse community.

1) mundane 2) controversial 3) anonymous 4) heterogeneous

10-  Despite the security, the thief's ability to break into the museum without being caught
remaing An ---------- to the police.
1) infection 2) enigma 3) illusion 4) authorization

PART B: Cloze Passage

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
| cach space. Then mark the correct choice on your answer sheet.

Thunder is caused by lightning, which is essentially a stream of electrons flowing
between or within clouds or between a cloud and the ground. The air surrounding the

electron stream becomes (11) ---—--- hot—up to 50,000 degrees Fahrenheit— that it
forms a resonating tube of partial vacuum (12) -=--—----- the lightning’s path. The nearby
air rapidly expands and contracts, (13) —----—-- the column vibrate like a tubular

drumhead (14) -----——-- a tremendous crack. As the vibrations gradually die out, the
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sound echoes and reverberates, generating the rumbling (15) ---------- thunder, We can
hear the booms from great distances. 10 or more miles from the lightning that caused
them.

11- 1) very 2) 50 3) too 4} enough

12- 1) surrounding 2) surrounds 3) that surround 4) and surround

13- 1) that makes 2) and making 3) making 4) it makes

14- 1) produces 2)is produced by 3) and produce 4) and producing

15- 1)itis called 2y i1s called 3) we call 4) which called

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
chaice (1), (2), (3), or{4). Then mark the correct choice on yvour answer sheel.

PASSAGE 1:

In contrast to the approach of relaxing assumptions of theory or investigating
conjectures in the context of a theoretically driven model, some prominent political
scientists see searching for facts through experiments as a substitute for theorizing. For
example. Gerber and Green (2002) advocate experiments as an opportunity to search for
facts with little or no theory. They remark: *The heauty of experimentation is that one
need not possess a complete theoretical model of the phenomenon under study. By
assigning...at random, one guarantees that the only factors that could give to
a correlation. ..occur by chance alonel Although they go on to recognize the value of
having theoretical underpinnings to research in general as a guide, they clearly see this
as simply being more efficient. not as a necessary component for experimental searching
for facts.

How necessary is a well articulated theory for learning from experiments? Is it
possible to discover knowledge without theory? Is theorizing merely an aid to
experimental political science. but not a requirement? The argument that searching for
facts is possible in an atheoretical setting is based on the presumption that causality can
be determined without theory: the claim is that by trial and error of manipulating various
causes and determining their effects using experiments, facts and nuances can be
accumulated eventually leading to greater knowledge with or without theory.

16- What does the paragraph preceding the passage mainly discuss?
1} How theorizing is necessary for searching for facts
2) What kind of information experimental research provides for political scientists
3) Prominent political scientists
4) Scientists” desire for searching for facts
17- The word "advocate" in paragraph 1 is closest in meaning to —----—,
1) plan 2) follow 3) support 4) analyze
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18-

19-

20-

21-

22-

Why does the writer refer to Gerber and Green (2002) in paragraph 17
1) They were tamous theorizers of political science.

2) They argued against experimental research in political science.

3) They conducted the first experimental research in political science.
4} They were in favor of experimental searching for facts.

According to the passage, those who are in favor of searching for facts in an atheoretical
setting believe ——--—-- 2

1) cause-effect relationships cannot be detected through experiments
2) causality can be measured in the experimental settings

3) theorizing is the prerequisite for causality

4) knowledge cannot be increased through trial and error

Which of the following best describes the tone of the passage?

1) Objective 2) Exaggerating  3) Skeptical 4) Critical

PASSAGE 2:

Fiberscopes have a wide range of applications. In the medical field, physicians use
fiberscopes to examine internal organs and as an aid in delicate surgeries. Miniature
probes have also been developed to view muscle fiber. skin tissue, and blood cells.
Fiberscopes have also found varied uses in industry, particularly to inspect or control
operations in inaccessible areas. Bundles of fiberscopes fused together in a solid plate,
called a faceplate, are being used in the manufacture of television picture tubes and other
cathode-ray tube devices.

The most far-reaching applications of fiber-optic technology are in communications.
Optical fibers carry voice messages for telephone service. The sound of the voice is
electronically broken down into thousands of pulses per second. which causes a
transmitting laser to send coordinated pulses of light through the optical fibers. At the
receiving end, the light pulses are converted to electrical signals and the voice message
is reconstructed. Light-wave communication systems can handle an immensely greater
number of telephone calls and television programs than the current system, and they will
form the basis of the "electronic superhighway” expected to crisscross the nation in the
near future of the information age.

What is the passage mainly about?

1) How sound may be transformed into light

2) How fiberscopes have enhanced the field of medicine

3) The birth of the electronic superhighway

4} The various applications of fiber-optic technology

It ean be inferred from the passage that fiberscopes ——-—-—-- ;
1) have more uses in industry than in medicine

2) will play a major role in the information age

3) will increase in importance as they become more common
4) have reached the peak of their development
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23-

26-

28-

According to the passage, how do optical fibers carry voice messages?
1) By sending coordinated electrical pulses through optical fibers

2) By fusing bundles of fiberscopes into a faceplate

3) By converting electrical signals to light pulses

4) By using cathode-ray tube devices

The word "they" in paragraph 2 refers to ——-----—.

1) fiberscopes 2) telephone calls

3) television programs 4) light-wave communication systems
The passage will most likely be followed by a discussion of ——-----—,
1) the use of fiber optics in the electronic superhighway

2) homes and businesses of the future

3) additional uses of fiberscopes in industry

4) the structure of fiberscopes

PASSAGE 3:

The United States Constitution established a political system comprising a national and
federal government. The new federal system accommaodated the thirteen original state
governments while establishing new bodies and powers designed to address national
concerns. The national government created by the union of states stood above the state
governments in specific national matters while acknowledging the role of the states or
sharing power with them in other areas. State officials were required to take an oath to
support the Constitution. and state courts were required to recognize the Constitution
and the laws and treaties made under it as the supreme law.

The Constitution, a veritable work of genius, greatly enhanced the power of central
government but carefully divided its functions into three distinct branches—executive,
legislative, and judicial. The principle of separation of powers was applied throughout
the document. Carefully measured checks and balances were inserted to prevent the
acquisition or concentration of power in any one branch and also for the purpose of
protecting minority rights from the potential rule of the majority. In their powers to
amend the Constitution and to elect the president and members of the Senate. the states
also gained a role in applying checks and balances.

What is the author’s main purpose in the passage?

1) To persuade the state legislators to support the Constitution

2) To mention the roles of state officials in government

3) To discuss one of the principle elements of the Constitution

4) To summarize the role of the Senate

According to the passage, state officials were required to take an oath to ------ —_
1) protect minority rights

2) support the Constitution

3) share power with the federal government

4) recognize the Constitution as a work of genius

The word "them" in paragraph 1 refers to -,

1) the states 2) national matters

3) state officials 4) national and federal government
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29- It can be concluded form the passage that the authors of the Constitution —---—--,
1) provided the states with the most power to govern
2} intended above all to preserve the unity of the states
3) wanted to avoid usurpation of power by any individual or body

4) didn’t believe that the state and federal branches of the government could work well

together
30- The author of the passage is probably an expert in ---
1) political science 2) social science
3) public housing 4) minority issues
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